The Mystery of the Easter Bunny
Costume

Members of the local Women's Institute have an annual Easter bunny egg hunt. Fred, the
groundsman, always dresses up as the Easter bunny, and hops through the village hiding eggs
for the children at the Sunny Days Nursery to find. It is always a wonderful occasion and the
children look forward to it very much.

However, there is a problem this year. Fred has gone to the cupboard where the costume is
stored and to his horror, he has discovered it has been cut up into pieces!

Your task is to solve the five clues and use the character descriptions of all the people who have
a connection with the Women's Institute and the building the meetings are held in, to work out
who the contemptible costume wrecker is!

Good luck!
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Name M/F Age Hair Colour | Favourite crisps | Owns a dog
Kim Hadley F 61 black spicy beef yes
George Dawes M 57 grey smoky bacon yes
Brenda Girder F 71 white cheese/onion no
Connie Booth F 56 grey salt/vinegar no
Terry Jones M 28 black Worcester sauce yes
Kath Ecclestone F 33 blonde cheese/onion yes
Graham Tone M 49 black ready salted no
Lindsay Cramp F 29 black prawn cocktail yes
Summer Twell F 22 brown cheese/onion no
Dawid Gierak M 62 grey pickled onion yes
Peter Grimes M 44 brown spicy beef no
Wen Li F 60 grey ready salted yes
Hannah Belling F 38 blonde cheese/onion no
Trish Plimsoll F 61 grey cheese/onion no
Enid Gardner F 78 white smoky bacon yes
Usman Hussain M 66 black pickled onion no
Doris Jarre F 69 black prawn cocktail no
Monika Kilmczak F 37 blonde ready salted yes
Derrick Stanley M 81 bald spicy beef no
Sue Guest F 63 grey ready salted yes
Simone Bates F 70 grey prawn cocktail yes
Fenella Pitt F 65 grey cheese/onion yes
Steph Hawes F 47 blonde pickled onion yes
Helena Wickers F 39 brown smoky bacon no
Sharon Charlake F 43 brown spicy beef yes
Jessica Mathers F 32 red Worcester sauce no
Zoe Kuiper F 38 black cheese/onion yes
Tina Flame F 46 brown salt/vinegar yes
Luke Warm M 69 grey salt/vinegar no
Belinda Tower F 72 grey cheese/onion yes
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Egg-citing Roman Numerals

See if you can work out which of these Roman numerals are correct and which are not. If there
are more correct numerals, than incorrect, the costume wrecker is male. Put a circle around
the correct answer.

XVIII = 16 XCIV = 84 XXIV = 24 LXXIV = 64
LXVI = 66 LXXXIX = 89 XXXV = 25 LXVIII = 69
XL = 40

Clue1:M/F
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Hop to it!

Help the Easter bunny work out which letters are needed to crack the code. Use the number
from the bottom square, and match it to an answer in the multiplication square. Use the letter
you find there to solve clue 2.

12 11 10 9 8 7 6 5 4

12

11

10

72 49 60 48 24

132 72 77 60

120 72 90

63 36 121 66 64

Clue 2:
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What's the Decade?

Follow the instructions, and work out the tens number in the age of the culprit!

18 x 10 = H

find

H

half

Clue 3: The culprit is in their

+ 400

—

+ 10
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l + 1000

l 100

l - 1000

<
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Mix it up!

Work out the anagrams to spell numbers in words. Then use the table below to solve the clue.

VIFRO FETY ROUNDHEAD FUNDER NO THEY EGG HIT 1
WEYNT VESTO DEHYDRATION TUFTS HEAVEN WENT

SHIRT TYXI VEND FUR NONE NO STAYED HERD

TINNEY EN IN

89 5124 2035
crisps discovered went
5023 45 147
found a floor

712 38 401
lead behind was
112 88 67
lost dog hair

99 291 36
the salt on

Clue 4:
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What's the flavour?

A crisp wrapper was found near the costume cupboard. Work out the answers to the calculations
below, then spell out the letters to identify the flavour of crisps and solve the last clue!

B C D E F G H I J K L M

92 24 72 18 12 33 90 3 81 400 | 30 20

40 6 15 4 10 500 | 82 26 L4 100 19 50 1

10.
11.
12.

13.

14.

How many minutes are in 12 hours?

If one side of a square is 4.5m long, what is the perimeter of the shape?
What is one tenth of 4007

35 days make how many weeks?

0.5 litres is how many ml?

How many 50p coins are there in £3?

9x8=7

There are 400 apples at the market. If they are sorted into ten equal sized boxes, how
many are in each box?

There are 233 tiny tropical fish in a large tank. Ginny buys 215 of them. How many are
left?

180 + =30

How many hours are in 2400 minutes?
6x3=7

There are 80 identical books. In a pile, they measure 24cm tall. How wide is each book in
mm?

470f 42 =7
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What s the flavour"

Clue 5:

Have you solved the mystery?

The Easter bunny costume wrecker is

0\
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